

نام و نام خانوادگی پاسخنامه تشریحی تکلیف شماره ۱۱۱ کلاس (شماره برگه)

$$\frac{a}{q} \quad a \quad aq \Rightarrow \frac{a}{q} \times a \times aq = a^3 = 4f = 1 \Rightarrow a = \sqrt[3]{4f} = \boxed{f}$$

$$\frac{f}{q} \quad f \quad fq \Rightarrow \frac{f}{q} + f + fq = \frac{f + fq + f^2 q}{q} = 21 \Rightarrow f + fq + f^2 q = 21q$$

$$fq^2 - 14q + f^2 = 0$$

$$q^2 - 14q + 14 = 0 \Rightarrow (q-1)(q-14) = 0$$

$$\Rightarrow q = \frac{1}{f}$$

$$q = \frac{14}{f} = \frac{1}{f} \quad \text{و چون } q \neq 14 \text{ پس } f = 14$$

$$x^2 + f, x^2 - 2 \Rightarrow (x^2 + f)(x^2 - 2) = f x^2$$

$$x^4 - 2x^2 + f x^2 - 2f = 0$$

$$x^4 - 2x^2 + 14x^2 - 28 = 0$$

$$(x^2 - 2)(x^2 + 12) = 0$$

$$x^2 - 2 = 0 \Rightarrow (x-2)(x+2) = 0$$

$$x = 2 \Rightarrow 14, f, 2 \quad q = \frac{1}{f}$$

$$x = -2 \Rightarrow 14, -14, 2 \Rightarrow q = -\frac{1}{f}$$

$$\Rightarrow S_v = 14 \times \left(\frac{1 - \frac{1}{f^v}}{1 - \frac{1}{f}} \right) = 14 \left(1 - \frac{1}{f^v} \right)$$

$$14 - 2 \times \frac{1}{f^v} = 14 - \frac{1}{f^v} \Rightarrow 14 - \frac{1}{14} = \frac{14 \times 13}{14} = \boxed{\frac{182}{14}}$$

$$a_1 + a_2 + a_3 + a_4 + a_5 \Rightarrow a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = a_1 (1 + q + q^2 + q^3 + q^4) =$$

$$\frac{10}{2 \times 10 \times \frac{1}{14}} = \boxed{140}$$

$$1 \quad 4f \rightarrow d = \frac{t_n - t_m}{n - m} \Rightarrow \frac{4f - 1}{0 + 1} = \frac{4f - 1}{1} = d$$

$$1 \rightarrow d = A \Rightarrow a_f \Rightarrow a_1 + (n-1)d \Rightarrow 1 + \frac{4f - 1}{1} = 4f$$

$$1 \quad 4f \rightarrow \frac{a_n}{a_1} = q^{n-1} \Rightarrow \frac{4f}{1} = q^4 \Rightarrow q = \pm \sqrt[4]{4f} \Rightarrow$$

$$A+B \rightarrow 4f, 0+1 = f, 0$$

$$\Rightarrow 4f, 0 - 1 = 4f, 0$$

$$B = a_f \rightarrow a_1 q^{(n-1)} = 1 \times q^4 = \boxed{1}$$

$$B = a_f \rightarrow a_1 q^{(n-1)} = 1 \times q^4 = \boxed{1}$$

$$2f, \frac{-40}{f}, \dots \Rightarrow d = \frac{-40}{f} + 2f = \frac{-40 + 94}{f} = \frac{1}{f}$$

$$a_{101} = a_1 + (n-1)d \Rightarrow -2f + 100 \times \frac{1}{f} = -2f + 20 = \boxed{1}$$

$$14, a_2, \dots \Rightarrow a_n = 1 \rightarrow a_1 q^{(n-1)} = 14 \times q^4 = 1 \Rightarrow q^4 = \frac{1}{14} \Rightarrow q = \frac{1}{\sqrt[4]{14}}$$

$$a_1 + rd, a_1 + 4d, a_1 + 9d \Rightarrow (a_1 + nd)(a_1 + rd) = (a_1 + 4d)^2$$

$$\Rightarrow \cancel{a_1^2} + 1ra_1d + na_1d + 1rd^2 - \cancel{a_1^2} - 10rd^2 + 16a_1d \Rightarrow 1ra_1d + 10d^2 = 0$$

$$rd(a_1 + 10d) = 0$$

$\boxed{d=0}$
 $\searrow a_1 + 10d = 0$
 $10d = -a_1$
 $d = \boxed{-\frac{a_1}{10}}$

$$a_1 + d \quad a_1 + rd \quad a_1 + vd \Rightarrow (a_1 + d)(a_1 + vd) = (a_1 + rd)^r$$

$$a_1^r + va_1d + a_1d + vd^r = \cancel{a_1^r} + \cancel{rd^r} + ra_1d$$

$$vd^r - ra_1d = 0 \Rightarrow rd(a_1 - d) = 0 \quad \begin{cases} d = 0 \text{ or } \\ a_1 = d \end{cases}$$

$$\Downarrow$$

$$d = a_1 \Rightarrow rd, rd, rd \Rightarrow q = r \Rightarrow a_n = a_1 q^{n-1} \Rightarrow \frac{1}{r} \times r^q = \frac{r^q}{r} = \boxed{r^{q-1} = 1/r}$$

$$\begin{aligned} \varphi a q^1, \varphi a q^2, a q^3 &\Rightarrow \frac{a q^1 + \varphi a q^2}{2} = \varphi a q^2 \\ a q^3 + \varphi a q^2 &= \varphi a q^3 \\ a q^3 (q^2 + 1) &= \varphi q (a q^2) \\ q^3 - \varphi q + 1 &= 0 \\ (q-1)(q-1) &= 0 \end{aligned}$$

$$\begin{aligned} & \text{P, } \frac{v}{f}, \dots \Rightarrow d = \frac{v}{f} - P = \frac{-1}{f} \\ & a_f = a_1 + (n-1)d \Rightarrow P + P_x \frac{-1}{f} = \frac{1-P}{f} = \frac{\omega}{f} \\ & a_n = a_1 + (n-1)d \Rightarrow P + v \lambda \frac{-1}{f} = \frac{n-v}{f} = \frac{1}{f} \\ & a_1 P = a_1 + (n-1)d \Rightarrow P + P \lambda \frac{-1}{f} = -1 \\ & \Rightarrow \frac{\omega}{f} - \frac{P_1}{f}, \quad \frac{1}{f} - \frac{P_1}{f}, \quad -1 - \frac{P_1}{f} \Rightarrow \boxed{\gamma = \frac{\omega}{f}} \end{aligned}$$

$$\begin{aligned} a \quad a_1 q^p \quad a_1 q^y &\Rightarrow a_1 + a_1 q^p + a_1 q^y = v_1^p \Rightarrow a_1 (1 + q^p + q^y) = v_1^p \\ &\quad r a_1 (1 + r + r^2) = v_1^p \Rightarrow \\ \downarrow \\ A_1 \quad A_1 + d \quad A_1 + qd &= v_1^p \Rightarrow a_1 = A_1 \\ a_1 q^p &= A_1 + d \Rightarrow A_1 q^p - A_1 = d \\ A_1 (q^p - 1) &= d \\ A_1 (q^y - 1) &= qd \\ A_1 (q^y - 1) &= q A_1 (q^p - 1) \\ q^p x \Rightarrow x^p - 1 - qd + q &= 0 \\ x^p - qd + 1 &\Rightarrow (x-1)(x-1) = 0 \\ x = q^p = 1 \quad q=1 &\Rightarrow a_1 (1+1+1) \cdot v_1^p \Rightarrow a_1 = \frac{v_1^p}{3} \Rightarrow A_1 \left(\frac{1-1}{0} \right) \cdot d = 0 \\ x = q^p = 1 \Rightarrow r = q &\Rightarrow a_1 (1+1+q) = v_1^p \\ A_1 = \overline{a_1 = 1} &\Rightarrow A_1 (q^p - 1) = d \\ 1(1-1) &= \overline{v = d} \end{aligned}$$